mam - 1. Polynom 3 stupně, a=0


f(x)= x2 - 2x + 1 + cos3x

mam - 2. Vázané extrémy


f(x,y)=  _x-3__    podmínka: y- x2- 4=0

                        √y+2

too hard - 3. Tečná rovina a normála


z = 4         T= (-1, 2, ?)

                  xy  

mam - 4. L´Hospitalovo pravidlo


lim     tg22x – 3_

           x→л  2sin2x - √3

                6

mam - 5. Definiční obor

                       __________


f(x)= √ x2 – 4x – 12    + log (4 x2 – 1)

                         4x – 4

nemam - 6. Monotónost fce

                            _________


f(x) = 2- √24 - 2x - x2

